
. �!"�#���$%&��!'��$% �()** �+�,�-(./0

����

�
��������
�����
�

*M �\�Z����
 �N�� |����	
��4� ��������7�7�7���<���
�����������������8���7���������7����� BB�����;
8���7�4���3��7� �()). �+�( �� �*,;*[ 

*L �/
�]^��
 �,��d�����������������	
��>�������<��;
7�����������?�������������7�����7�������	
��;
�������������7��������7�����B�%�����?�����������;
��8��� ��� ����7����� �< � ���� � 7��� � ��3� � ���7�
), ** *) �f�� 6�())L �((�� 

*, �\�Z����
 �N��
���9����4�7�������4� >??�7���;
����
�8�?���23�����������7�3����������� BB���;
��8���7�4���3��7� �())[ �+�, �� �*;L 

*. �3;7A":�7$":
H�L��
34$)6?
J�U��
K4"=�
3�L�
7>
)A��SXQOY
;qZX}RWYQXO�';ZUa�ZU_QX]ZUqTa�mVQO]�UO�K;qQOWT�UV�YTR
ZU_QUYQXO� VXmZWR� BB�rRsQR{�X`�tWQROYQ`QW� NOVYZmbROYV 
())* �uXP �5( �+�* �dd �..5;.5) 

*5 �_=7
F�R��
`4=
`��
F):
U:�
V;7$5
_��\RORZUYQXO�X`
WXOYQOmXmV� UO_� qmPVR_� _QU]OXVYQW� QbU]QO]� ';ZUa
ZU_QUYQXO� mVQO]� U� WUZ^XO;OUOXYm^R;^UVR_� `QRP_;
RbQVVQXO� WUYTX_R� BB� HqqPQR_� STaVQWV� ~RYYRZV � ())( 
uXP �[* �+�( �dd �M,,;M,5 

*[ �!��
W�/�� �7��	���4� �� ����������3��7� � f� � �
����8���6�*/.5 

������	
������
���
O������

�S�
�
^��
�����
���a
�����

Z��
��]��	
����������
	
b
**�

c2d
e0�NNN\#f
g��Z�������Z����

 ������	
N�������
\�Z�����

�����
�
^��
�����
���
������	
����������

Z���
���
�����
��
����
�

1 Y
e�N[X
eh�
�����f�

��
\������

7S%)4A-
 :>T7AS**i%)4A�6=

������������	
�������������	
�������������	


��������
�
�	�����	���������
�����	�
���

���
��
	
���������

	��
�
��
���	
�����	�

�����
����
�
�����������
�	������

	""#$%&'(
����
4�����49�������������=��������������	��7�������������	��������9�=9����4����������������;

<��7�������������7�������7� �1�����
����������2�����	
���2�����		����?�<��7�������	����7������8���;
����������6��������	����������������6���	�����������	
?���� ���7�����������2�����������4��2���������;
�����7�<�������������	�����	��7������������������	��� ��������	
�2�����	��� �����������23���	������
>7��	����8������3�������6��2��	����23����������������������	������ 

%���2� ����������7�3� �����7� -d�0� �2��7��
��9�����6�����	
����23�������8���7����������3
��	���43���3��7�6�7�7������	�6��2��	�4=��������;
	��7������:����������������	
?���� �
�������
����	����������������	������� >7��	����8�����;
7�3��������4�	4���4����������������9��������	�;
������������	�����?�7�����������7����;�����9�;
�����������������������������������6� �� ��7��� ��
�<��������82�7�>??�8������������<��7�������:�;
����4��������	��������2���������������:��� �@��
���������7� �������=���9����������������7���
��	�<���4��� ����
:���=��������� ����� �d�:��

�����=�����	�������	�<�2�������2��2��=��4���;
�������������������	�����:���������	��7�����;
��6�����7��������:�����������������������3�����;
���	���4 �A������	
���������	����E*F;E/F��2	���2;
4�	��2����	�<�2��������2��������	���4�������6
����7������������	���=��������	���2�����������;
7���6���7����7�7�
• �����:����� �������	��� ��:���� �� ���	��7�

-��4�	����� ���9��0� �� �����?�7�����������7�
����>7��	����8��������	
:�3���9����43�E(Fg

• ���2:���������������������������=9�3����;
�������������6�<���������������	������������;
��4��2��7������7�������d�������	���	
����>7�;
�	����8���EMFg

• �2��7�4� ��������
� �����6� ����������	����4
�	������
=���3��	������������	���4���7����;
��78���EMF6�ELFg

• �2��7�4�������7��������:����7���������9����
�������6�7�7��	�������6���������2���������d�
E,Fg

• ����������������������� >??�7���������3	��;
����4����2�?�7�����������7����;������7������;
	��������������������	�����	��7�6� <������
�������d�������	
:�3���9����43������������;
����7�������������	����������6����	���=9���7
�����?�7�����������7��E.F 
1������49�������4�����	
:��������	�<�������;

�2�d���������	���=��������������������������:;
7���������		�����6�����7����������	��7������;
:��
�?������=���������:7��23��������	��� ��;
���������	���������	
�����������	���=9�������;
��������� �� �����<��7��� �������7��6� ��������



5�!"�#���$%&��!'��$% �()** �+�,�-(./0

����

�
��������
�����
�

���7����� ���������������	���:���������4����
���	��7�6��������	����=���������������	��	��
;
��6���������3���<��7�����	��?���<��7��������;
����4���� ��������?��2������	��7�3��������	����
���	���=9��� ����	��	������ ��	����� ?�7�����
�����7�� E[F;E*)F 


���7�������������	������������d���7�����2;
���������������������7�2����������	��7�����;
	�<����4����7�4������8� ���	�<������������	�<�23
����7����23���?�7�������>���������8������������
���<����
 � 1� ����	
����� ��	����<����
� ������ �
��������������������d������8�7	�<��7������	����
�������������4������������:������������������;
82 �$���������6�����	
����������7��<�23�������;
�	���-?����������	
?�����������40�������	�<����
��7�2������������3���<��7������������4������;
������?��2����������23������8�43����������7���;
��:���=�>7�	���� 

����3��������7����������
6�<��������������;
	�����������	���23��������<��������	7���=��4��
����	��������������4���������		���-�	������	��;
7�6����	��7�;��:��
6��	�����:���06�7����2�����;
�2��������������:�=��4����	�<�2������������ 

��76��������2������2����������4�������������;
���������		���6�����7�����	�����������	
?�����
��??�������������7�� �"�??�������4�����7��7�7
���������������4����������23��������	��������
�4�� ������9����� ������ ��������6� �7�����2��
�2:�6������������������	���23���	���43����<�2�
���������46�7����2��������4=���� �	���23�����;
���������23�7������78�43 �1���3��<��7���	�����;
�����������2������2���??�������������7������;
��� ����7����2�������		������ ��	�����6� �� ��7��
��	�����������	
?����6���	�����������	
?���;
������������	���� E**F �"	4����2:���4����<�����
����7��>��3��������	���������4��<��������	�<�2�
���������<�2���	����������	���-��7�	
6������	6
��	��������� �� 0 

��������B
������������	��

��3��<��7�4�����<�6�7�����4��2	����:���������;
7�3� �����49��� �����26� ��7	=<�	��
� �� ��������
���������������	���4�����������������������;��;
	������;��	
?����6�������4=9������������7����;
�����23���������6�������<���=9�������2:����=
���������
� �� ���2:���2�� ������� 7������78��
����� �A�������������3��<��7������:���4� ����;
<������9��2�����������do�E*F 


�������	�:
6�<�������2�������E*F�-����
�0�����;
����	4������������	��7��*��������7���<��7�������;
7�6� �2��	�����=���� ��������	�� ���� ��	���� ���
7���<��7��������3���������	��7��*������9�=�
�	�4����	�����2������	�������(�����:����M ����;
��������3����
=����	��7��*����	�������������;
	������� (� �� ������ �	�������� ��� ��	������� (� �
��:��
=�M��������	���=�����������<�2���	���L 

A��������<�2���	���L��������2�
��������	�;
�2��������6���7�	46� �����	�6���	������6������46
3������	���3� ��	���� ������������		����������;
����<�23� �	�43��	��������4���46� <��������	4��
7������������
������8����7�>??�8�����3������;
<��7���� ���:�����4� ������ ��	�������� �� ��	
;
?�������������������������������<�3�����������6
7����2����������������
�M)�j �%�>��6������=��<�;
���
6� ��9�9�����������������:���46� �2��������
���������4����4�� 

���7���<��7��������3���������	��7��*������;
��������	�����4�?�7�����������7���������2�

�2��	����������<7��,�-����
*0 �1�>�����	�<����	��;
���2������	�������(6���:��
�M������������<�2�
�	���L������9�=��������������<7��, 

���
� ��������������4���4���������	
�������
����������	��7���	�����	��7���������<7�� 

����	�4�����������[)��������������������6���;
	�����������	
?��������=���2��7���7�<����� ���76
����		����?�<��7������	��� E*(F���7���	�3���:��
7�<�����������8�-��������������9��6�����4����23
���6�����	�:������0����������	��7�������	����;
���6�����7�����������	������������:��
= 

�����4��C�������	������	�+)��	!���	�	��	!



[ �!"�#���$%&��!'��$% �()** �+�,�-(./0

����

�
��������
�����
�

�������
+���������	�����7�������������7���	
;
�2�����	�����4��������������4�y;xQ;wX ��������;
����	������������������y��������������4���wX
-��<7��.6�506���wX�f���8�������	�4�xQ�6�<���4�	4���4
���������������3���:�����??�����y���xQ���wX 

�������
j���������	�����7�������������7���	
;
�2�����	�����4��������������4�vQ;xQ;wX �
������;
�����4�	4=��4���4�2������������4�������	����;
����	
�����7�<����� �@7����������	
�2������	
;
���2���7�������������7���	
��������	������4��;
��� ���������4� ������ ����	��������	
��
���	���=��4�����������������??�����7������78�;
���23�>	��������������y6�xQ6�wX6�vQ�E*MF 

�����?��D���	���� ��	��������+�%!������������	 	
�	���������EFG7F3H

�����;��D���	���� ��	��������+�%!������������	 	
�	���������I7FG7F3H

12�������������7�<�������������	�����	��7�
������ ����	��	��� ���7�	
7���� ?�7������ � ��;
��7���������������������23���	�����������8��6
7����	�������������������������4�������������;
	�� �������=� ���<����������� ������������� �� ��;
7��	���=��������<�23��������6������	����
=���;
����������23�������4 �������8�4������������23
8��6� ��4�����4�������������������������������;
����>�������7�6������������9���������������<��

��������������6������������	����<
����������	�;
��������23� �������3� �� ��� �	
������������ ��;
��	
���������������:���=�7���	
;?����6���	��;
��������4��������3���	������������49�3�������;
�	�� 

��	�4� �	������
� �������23� ��	����� ������;
�����������
:���=��������������23�3���7�����;
��7���������6���������4����<�����23�����������;
���������23���	���������	�� �1��	�<������������d�
�������������7�<�����������2��	4� ������������;
:��������������7��1��*;)������	�	������
:��

���������9�=9����4����������L)�j���������
:�;
��4���9������	���7���� �|���<�������
:���4����;
�2������� ��9��������� ����
:�	��
�������7����
���:����7������2����9���46�<��6������=��<����
6
���	�<�	���3������� 

������������������������������	�9��
��4����;
���� ���� �������� �� ������	������ �������������
��������������	
�����4��	4�����9���4���3��	����
��7����������4����������23���������6����	�<�;
��4����7���3��	���2������������	���4���7������
����<�����J�������	���	���	
�����3������46����
��7�2��4�������� �%7����8�4��������23�����	��6
������������������3�������7	4��2������	�<7���6
�������2�
�	��7�����9����	����������������78�;
�������������� �1���������������	
������4���;
����2	4��23�����������������<���3���:������9�;
�2�����3��<��7���	����������E*LF 

���������2�� ������������� ������� 4�	4���4
�2��7�4��	����<����
����������������36��	��7�3
7� ������������ ��7�����		���8�� � @��� �����	4��
��7����	
������	�<��
�?���<��7�=��	�9��
�7��;
��7��� ������ ������4��2��� �����3����4��� ���
������	
���������=9������	�� 

��������	��������	
:��6�<�������	������6����;
���
=�<�����2 ����<����������������������������
�2	������������2����<��2������������23���	��
����>7��	����8������3�������6��2��	����23������;
����������������	������6�������������7�������7�
�	4���������?���E*,F6���7����23������������	��

����������
����������4� ��������� 7�<���������;
	��7������� 

%��	�������	
���������<�������7���	6�<������
�	���	
����>7��	����8��������� -���7�������8��;
�����������������2����������8�7	��������6�� �� 
7����������������������	���=9���8�7	���������f
�3	�������������	�<�	��
��������������2������;
�2��9���8�7	�0�������3����������23�������3���7;
����	
��4�������������?�7�����������7����	��;
����������������2:�������������=9������������;
�2���������3������������23���������������������
���	��7������	������*6,������	
?����������:�;
�� 



/�!"�#���$%&��!'��$% �()** �+�,�-(./0

����

�
��������
�����
�

|���<�����	
:��6�<�����������6����	���������;
������	�����������	���������������������������;
������������6�<��������������������������	��7�� 
$���������6�����<������7�	
7��������3��49������;
	���7�������	�������������23�8�7	�3�>7��	����;
8�����������������	�������������������������;
�������2����������������������	��7�� 


���7������<�����	
:�����������<�����2�����;
����3	�����������������������������	��7������;
��3�������	�������������6�<�����	��������������;
�� �A�>����������	���	
����>7��	����8���������
-��	��� *)� 8�7	��0� ����� �� ���������� ���	��7��
���������
:�=������������6� <�����	�������2�
���� 

�����J��D�������+����������������$	����	!��	�	
����
	�+�	!�$	����/��������%!�$	����/
�

�����<��D�������+������������������	������������	�����������	�	����	�+*�����������
	�+�	!�$	����/����
���%!�$	����/
�

�����K��D�������+������������������	������	�)��������������%��
	�+�	!�$	����/��������%!�$	����/
�



*) �!"�#���$%&��!'��$% �()** �+�,�-(./0

����

�
��������
�����
�

�����	
:�4� ������������ ?�7������ �����7�
���������	������4�����>7��	����8�����	��������	
;
:����?�7�����������������������>7�����8���*)�� 
�������
 k�6��� ��7����2���7����	
�2�����������;
�2�?�7�����������7��-��	
:�������	2��?�7��20
��	�����������������-*0������������������������;
	��7��� -(0� �����8����� >7��	����8����������f��3;
	�������� ->7�����8�4�*)� ��f�������*M[� �0 �A�����
���8������	������7�	�<�����������8�7	�� 

�������
l�6�����������2���7����	
��4��������;
�������	�����������������-*0��������������������
���	��7��� -(0� �������� ���������4�������� ����
=
���9���4�-��	
:�������	2��?�7��20 �1����6�<��
�����4��������������	4����������������������	��;
7�����9�������������6��	�������	
��6����:����;
7���������9���4���>��������������������
:����;
��������
�46�<������	�<�����	���������������� 

�������
 m�6��� ��7����2�����������2���	����;
������������� -*0������������������������	��7��
-(0����	������6����������8�7	�<��7������	�������;
����7��-��	
:�������	2��?�7��20 

�������
n���7�����6�7�7����4���4���7����	
��4
������������ ��	����������� ������ -*0� �� ������ �
�������������	��7���-(0�����<�����8�7	���������f
�3	�������������3�>7��	����8�����7�������8�����;
����������� -��	
:���?�7��6�����4�>7�����8���f
*)� �6� ����4� ����2� f� *M[� �6� ���	���4� ��9����
� f
(6[�71�0 

A��������2�����	�����7���	6�<���������3�����;
��3�>7��	����8������������������������������	��;
7�������������
���������������2��������26�<����
��	�������2������ ���7����	
�2������������2
?�7�����������7�������6� ���� �����������������;
�26��� ��7�������������2��������9���4���������
�	�<��������� �� �������������	��7�������� ����;
�������=9�3�������������	4���	��������������;
�� 


�2������	
������4�������� �� �������������;
	��7���������������7�3�����7�3����������<��7�3
�������������	�<����������<���4�������������
���������
��3������2�������3����������3��������;
�23�3���7�������7�����<����������<������������;
�� ���7����������6���������	4���4�8�	���������2�
�����������2���������������������	���23�7��;

�����L��D�������+������������������	�����)����
�� ����M�	���
�����

����78���������	���23�����������������������;
	��7���7�7��������2���7�����������8�������	�;
���7������������7�3����������<��7�3������76���7
��������������7�����23�����	�� 

,�����
���
������-

* A������do�+�(M,/M,L6��A$��)*�� M,B*)6� ��4�	 
(, )L /5�� 

( A������1�	�7���������6�+�*L((L.*6��$���NI6
����	 �([ )* 5.�� 

M A������ ��%� +� LMM*/)(6� �$�� M*MBMM)6� ����	 
(, ), [(�� 

L |�4�7�� SvGBr�� //B)M*.� ��� )(� ����4��4� *///� � 6
�A$��
A�M,B*)�� 

, A������ ��%� +� L.L*MMM6� �$�� M5[;*LL6� ��4�	 
)/ )/ [,�� 

. |�4�7��o���8���+�(,/(/[56��A$��)*��M,B*)6���;
4�	 �*) )* [.�� 

5 A������do�+�(*,[L,M ��A$��)*�� M,B*)6� ��4�	 
(, )L /5�� 

[ A������%�������+�M/5)),6��A$��)*��M,B*)6� ��;
4�	 �)5 ), *//*�� 

/ |�4�7��!A1�+�)[5LM[,6��A$��)*��M,B*)6� ��4�	 
*5 )L *//[�� 

*) �#�����
\�/���������	2�����	�������8���7�����3;
��7� �D���
�* �����		�<��7�������2�����������7�3
�����7�B�(;��������� �f�� ����o�6�())( �5(�� 

** �X�Z����
��c��"�??�������4�����7���������	�� 
f�� ����:�����������6�*/5. �M*(�� 

*( �N����o
�
p����
#�����
0����
X�a�
�
/����%��	��
�����4��4�����������	�����2������B���3��<��7�4
�����7� �())5�� 

*M ���������� >	������� �������<��7 �1�(;3�<���43 
D���
�* �o���<��7������������B�A������ �k 1 ����;
������ �(;����� �f�� ������		����46�*/5. �� �(,L 

*L �[����
0�c��������2	4��2���������	�����	� �f�e �
@�����46�*/5, �*)L�� 

*, �#�����
\�/��
X�����
�
P�P��d��<�����������������;
��� �n;/)�� ��������?�<��7��� ����������7��
����7��B���3��<��7�4������7� 

P��
��	
P�������
X�����
��

�
����	
���
�
��

c2d[
e�NN
�[Y
e/��f�

��
[����o���
\���������
�����

0�����	
������
���
,��������

���
�
��

1 Y
eg
���
�����f�

N���
������
���
,��������

���
�
��

1 Y
eg
���
�����f�

��
\������

7S%)4A-
$q:i?4)A=@;�6=


